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NDA & NA Exam(ll:2016

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TG DO 50

T.B.C. : ADN-S-FST Test Booklet Series

Serial No. TEST BOOKLET
0364937 GENERAL ABILITY TEST

Time Allowed : Two Hours and Thirty Minutes Muaximum Marks : 600

2.

INSTRUCTHINS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS; ETC. IF 8O, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Please note that it is the candidate’s responsibility to encode and fll in the Roll Number and
Test Booklet Series Code A, B, C or D carefully and without any omission or discrepaney at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

¥ou bave to enter vour Raoll Number on the lest
Booklet in the Box provided alongside: DG NOT
write anpthing else on the Test Booklet.

This Test Booklet contains 150 items (questions) in two paris : PART — A and PART — B. Eack
itemt in PART - 8 is printed both in Hindi wnd Erglish. Each item comprises four responses
{answers). You will select the response which vou wani to mark on the Answer Sheet. In case you
feel that there is more then one comect response, mark the response which you consider the best.
In any case, choose ONLY ONE response for each item.

You have to mark all your respenses VLY on the separate Answer Sheet provided, See directions
m the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per mstructions sent to-you with your
Admission Certificate,

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over 1o the Invigilator enly the Answer Sheet. You are permitied to take
away with you the Tést Booklet.

Sheets for rough work are uppended in the Test Booklet at the end,

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS. 1

{i) ‘There are four alternatives fur the answer to every guestion. For each question for which
a wrong answer has been given by the candidate, one-third (0-33) of the marks assigned
o that question will be deducted as penalty.

{ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens io be correet and there will be same penalty as above to that
(Uesion. i

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question. '

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

waw § ¢ ek W Rt e g § P g ot e 2

Downloaded From: http://iasexamportal.com



Downloaded From: http://iasexamportal.com

PART - A

SPOTTING ERRORS

Directions for the following 10 (ten) items :

Each question in this section has a sentence with three underlined pants labelled (a), (b)
and (c). Read each sentence to find out whether there is any error in any underlined part
and indicate your response in the Answer Sheet against the corresponding letter i.e., (a) or
(b} or (¢). If you find no error, your response should be indicated as (d),

1, My friend was  habitual to drive a car  at very high speed. No error.
(&) () (c) (d)
2. Being a day of national mourning  the offices were closed
(a) (b)
and the national flag Mew half mast,  No error,
(c) (d)

3. Ifyou are wanting to watch  the birds nesting  you must not let them see you.  No error.
(=) (b) (c) (d)

4, Hedoesnotlistento whatlsay, although | am advising him for a long time.  No error.
(a) (b) (c) (d)

5, It is most essential for us  to reach the station before noon  lest we should miss the train.
(a) (b} (c}

Mo error.

pae—

(d)

6. I'asked him what had hmuﬂ him there. No error.
(a) {b) {c) (d)

The guards  darenot  to harm him. Mo error.
(a) (b) (e) (d)

T

g, I'he Principal lnoks very worried
{a)
I_:tc::gl{szehs_mdenmmazwf on strike for the last fifteen dayvs as a protest against
(b) -
his disciplinary sction against some miscreants. No.error.
ic) (d)

ADN-5-FST - A -4
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9.

The king was embarrassed

to find evidences  against his own queen.  No error.

(a) (b}

(e} {d)

po. Aslprefercoffec thantea  my frends always take the trouble

(a)

{b)

to get me a cup of coffee whenever | visit them. No error.

(c)

SYNONYMS

Directions for the following 5 (five) items :

Each item in this section consists of a sentence with an underlined word or words followed
by four words or groups of words. Select the word or groups of words that is most similar

12.

in meaning to the underlined word.

Hospitality is & virtue for which the

natives of the East in general are highly
admired.

{(a) Duty of a doctor
(b) Generosity shown to guests
(c) Cleanliness in hospitals

{d) Kindness

House rent in cibies like Mumbai or .

Delhi has risen to astronomical figures
beyond the reach of even high-salaried
people.

(a) exorbitant
(b} commercial

{¢) planetary

{d) illogical

(d)

13. Appropriate technology holds the key to

14.

15,

a nation’s development.
(a) Modem

(b) Suitable

{c) Effective

(d) Growing

Hcl was cpamoured of his own golden
voice.

{a) very fond of

(k) concerned with
(¢} obsessed with

(d) imbued with

Some journalists are guilty of indulging
in yellow journalism.

{(a) misrepresentation
(b} vulgarization
{c) sensational reporting

(d) loud gestures

A = ADN-S-FST
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ANTONYMS

Directions for the following 5 (five) items :

Each item in this section consists of & sentence with an underlined word or words followed

by four words or groups of words. Select the word or group of words that is mest nearly

epposife in meaning to the underlined word.
16. The culprit was sentenced by the Court.

(a) acquitted

(b} cauticus
{¢) caleculating

(b) punished (d) seasoned
(¢) relieved 19, | was prepared to show my hand provided
{dy pardened he agreed to do the same.

{a) to yield

17. Thrifty as he is, he can well afford to
live within his means.

(a) careless
{b) instinctive

{b} to shake hands
(¢) to conceal my plan
(d) to lose my ground

{c) sentimental 20. Akbar the great was a sagacious ruler.
(d) extravagant {-ﬂ}. haughty e
18. Do not give him a responsible job, he is (b} cunning
immature. (¢} rmude
(a) thoughtful () unwise

SELECTING WORDS

Directions for the following 10 (ten) items :

Each of the following sentences has a blank space and four words given afiter the sentence.
Select whichever word you consider most appropriate for the blank space and indicate vour
response on the Answer Sheet.

21. She has been lying in bed for the fast 23 1 feel for those who are cruel

fortnight. 1 hope she will to their children.
(a) come out {a) sympathy
(b) pull out (b) contempt
{c) pull through (¢} admiration
(d) go out {d) craving
22, The path of progress is beset 14. Both the parties were keen to have an
difficulties. _ settlememt of the dispute,
(a) with {a} enviable
(b) by (k) imimical
{c) through {¢) worthy
(d) along {d} amicable
ADN-S-FST - A
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P

zﬁl

27.

Directions for the following 7 {(seven) ilems .

31.

| have come to know that the two
brothers have

{a) fallen through
{t) fallen oot

(¢) fallen for

(d} fallen short

Evervbody finds his own work

whereas he feels that others have

delightful jobs.

(a) tedious

(b} fabulous

(¢} unprofitable

(d) indecent

The accident took place because of the
criminal of the driver.
(a) performance

(b) disregard

(¢} negligence

(d) slackness

28.

29,

30. They found a world of

The belief in the
tion is gaining ground.

of vaceina-

{a) immunity
(b) prevalence
(c) efficacy

(d) workability

Onir new feader is a
and will take us forward.

{a) haughty
(b} intoxicated
{¢) fanciful
(d) dynamic

young man

between
what he said and what he did.

(a) chaos
{b) bitterness
{c) difference
(d) hope

ORDERING OF WORDS IN A SENTENCE

Each of the following items in this section consists of a sentence the parts of which have been
jumbled. These parts have been labelled P, Q, R and S. Given below each sentence are four
sequences namely (a), (b, (c) and (d). You are required to rearrange the jumbled parts of the

sentence and mark your response accordingly.

The statement

therefore you must listen carefully

whal the speaker has said

F

in order to understand  will be made just once

14 5
The proper sequence should be
(a) SPROQ
(b) SRQF
(¢} R&EPQ
d) SPQR

Q

A — ADN-S-FST

Downloaded From: http://iasexamportal.com



Downloaded From: http://iasexamportal.com

32. The small boy who broke hisleg fell down and climbed the wall

P Q R 5
The proper sequence should be
(a) PSRQ
(b} SQRP
c} QSRP
(dy SPRQ

33. According to an engineer  might hit the market next year
P
a newly developed air -cooler system  that employed in conventional room coolers
Q R
which is based on a principle radically different from
5
The proper sequence should be
(a) SQRP
(b) RSQP
ic) QSRP
(d) PQRS

34. The clerk onthedesk lefi the money  inthe safe  which he should have locked up
P Q R S
The proper sequence should be
(a) SRQP
(b QRSP
(€ PQRS
{d) QPSR

35. Hardly had my brother descended from the plane  when the people  waved and cheered
P Q

who had come to receive him  from the lounge
R S

The proper sequence should be

(@) PORS

(b) RSPQ

(c) RPQS

(dy PRSQ

ADN-5-FST - A [
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36, The essay like that of the human face  because its variety is infinite s a literary form
P Q R

which is not easy to define
S

The proper sequence should be
(a) PQRS
(b) PQSR
fcy RSQP
() RSPQ

37. The exhibition committee attractive and useful 1o make eﬂiﬂ:i}im miﬂr:g‘efﬁ}rts
P Q R

has been
s

The proper sequence should be
(&) QSRP
() SRQP
(¢ QPSR
(d) SPOR

SENTENCE IMPROVEMENT

Directions for the following 13 (thirteen) ifems ;

Look at the underlined part of each sentence. Below each sentence are given three possible
substitutions for the underlined part. If one of them {a), (b) or (¢) is better than the underlined
part, indicate your response on the Answer Sheet against the corresponding letter (a), (b) or
(c). If none of the substitutions improves the sentence, indicate (d) as vour response on the
Answer Sheet. Thus a “No improvement™ response will be signified by the letter (d).

38. My old teacher gave many poor students money in spite of he was poor.
{a) .even though -
{b) asif
(e) however

{d} NO IMPROVEMENT

i A — ADN-S-FS8T
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39,

41.

42,

You should to read the newspapers regularly il vou want to be well-informed.
(a) wought

(b} have to

(¢} should be

(d} NO IMPROVEMENT

If he had !istening: to me he would not have got lost.
(a} listened me

(b} listencd to me

(¢} listen me

(d} NO IMPROVEMENT

He asked for a bank loan alsp he didn't have sufficient resources.
{a) because

(b} even if

(c} requiring

(d) NO IMPROVEMENT

| went to the shop to buy some stationeries.
(a) stationery

(b) stationary

{c) stationaries

(d) NO IMPROVEMENT

. | have been waiting here for the last two hours.

{a) from

(b) since

(c) by

(dy NO IMPROVEMENT

The table needs to be painted.
(2) paint

(b} painting

{c) having painl

(d) NO IMPROVEMENT

ADN-S-FST - A B
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45.

46,

47.

49,

50.

It began to rain heavily just when | prepare to go out.
{a) prepared

{b} was preparing

{c} have prepared

(d) NO IMPROVEMENT

The couple seemed to love one another very much.
{a) every other

{b) each

(c) each ather

{d) NO IMPROVEMENT

It is high time that we did something.
{a) “had done

{6} would do

{c) have done

{(d) NO IMPROVEMENT

If 1 were a millionaire, I would have helped the poor.
{a) am capable of helping

(b} could have helped

{¢) would help

(d) MO IMPROVEMENT

The training programme was extended for a month.
{a) from

(b) until

{¢) since

(d) NO IMPROVEMENT

The painting which they were looking at was done by my sister.
{a) what

{b) that

(¢} whom

(d) NO IMPROVEMENT

A — ADN-S-FST
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PART -B

The following 6 (Six) items consist of two
stalements, Statement | and Statement 11
Examine these two statements carcfully and
select the comect answer using the code given
below :

Code ;

{2) Both the statements are imdividually
true and Statement 11 is the correct
explanation of Statement 1

() Both the statements are indiﬁduall;,r
true but Statement [ 15 sof the
comect explanation of Staternent 1

{c) Statement I 2 true but Statement 11
15 false

(d) Statement I is false but Statement 11
i true

51. Statement [ | Vanability of annual rain-
fall is very high in western
part of Rajasthan.

Staterment I1 | Average annual ramnfall
is extremely low in
western Rajasthan,

51, Statement ] : Ozone is a tri-atomic
minlecule of oxygen.

Statement I ; Ozone 13 concentrated
mainly in stratosphere.

53. Statement I ; The laterite soils develop
m areas with high
temperature and high

rainfall.

Statement 1l : Laterite soils are the
result of imense leaching
process.

ADN-S-FST - A

10

54, Statement [ : Too much salt content in

diet could be one of the
reasons for kidnev failure.

Statement [I : High salt may cause

high blood pressure,

55. Statement [ @ The city of Rome revived

in & spectacular way n
the 15th century.

Statement I : From the 15th century

omwards, artists were
known individually by
name, not as member of
a group or a guild, in
Roman society.

56, Statement [ : Chartism was the political

reform  campaign  for
democratic nights which
swept over Britamn
between 1838 and 1548,

Statement IT 5 The trade mmion move-

ment declined by the
18305 as it failed to fulfil
the aspirations of the
working class.

57. ‘Sahel’ region of Sahara desert is asso-
ciated with

{a)
(b)

()

()

core area of Sahara desert

southern moving edge of Sahara
desont

northern fringe of Sahara desert
bordermng: Mediterranean sca

-another name of Saharas desert
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58. Which one of the following pairs of a List 1 List IT
rnver and its tributary 1s mof comectly fRiver) {Mouth of the
matched ? river}

{a) Godavan :  Wainganga A Danube 1. North sea
(b) Cauvery i | B. Rhine 2, Black sea
{c) MNarmada :  Amaravati € Rhone 3 Bay of Bieqay
D). Loire 4. Mediterranean
(d) Krishna . Bhima & ;
sea

59. In which one of the following countries, Code
the Mediterranean type of Biome is
found 7 A B [ & D

: (a) 2 1 4= 3
(a) Chile
15 S R
K
) Henyn ey 2 4 1 3
(- Sglai ok Y Sal”
id) Bolivia

62. Match List [ with List 1T and select the

60. Arrange the following states in order of JUECSECE EROWEE Mdiilg e, X8 ghen

1 ; ; ; below the Lists
their decreasing population size as per
the census 2011 : Last 1 List 1T
1, ‘West Bengal {Process) (Type of change}
A. Heating Camphor 1. Chemical
2. Bihar
B. Cooling of water 2. Evaporation
3. Maharashira vapour up o 3 Eandedabi
(RRlElui] IE.'!ZI'IPET‘HTE]'E.‘
4. Andhra Pradesh 4. Sublimation

C. Cooking an cgg
Select the comect answer using the

code given below : D, Formation of
water vapour al
{a) 2 =3=1-—4 room temperature
by 3-2-1-4 Code :
fe) 1=4-3-3 A- B € D
oy -3 =1—9—12 (a) 4 | 2
(b) 4 1 3 2
61. Match List [ with List II and select the Y 2 1 3 4
correct answer using the code given
below the Lists : d 2 3 1 4
ADN-S-FST - A ' 12
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58.

59,

61.

T8 A TR s N & Tt

gt 3 & wiA-w v e e T
{a) TETET ECnl

(b) L T

(¢} g ST

(d) Fom Ll
Treafafaa gt 7 & e v A swegami
WEHR T HEW T AW e 7

(a)

(b)

(c)

(d) =retiEaT
. 2011 & WA F R, fatehm
Tt 1 G R B A & WA o
e i

1. i S

2 faEr

3, e

4, ;Y WaY

e o o ol e Tl e
g

8) 2-3-1=4

S i

B — #—2

@ 3-1-4-2
wel L F A 1 E e gAfE dif

ofv e 3 13 fa8 T o o v
Hﬁﬁﬂ?iﬁ?{:

13

62.

Gl w11
(=) (7t = HeET)
A B |, S HER
B. 7= 2. T TR
C. 7 3. faek 1 @t
D, FEw 4. AT ATR
& :

& ‘B € -D
a3 220 % oh o 3
1 T S S S
ey 2 4 1 3
11 R P S
w1t g1 @ il i o gl

et Tl T i
3f ;

Gl T
(w=T) (afraam =1 www)
AT F AT 1. Tl
B, WA 979 2. ATEA
Hel AT T S !
3, T
C. 32 = THET AT =
D. JTEE AT 9
A -AT T WA
‘ﬁ':':
A R O£ D
(a) 4 3 1 2
] 1 3 2
ey 2 1 3 4
(o = 4 1 4
A — ADN-5-FST
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63,

Identify the element having 2¢ro valency
(a)
(b)
(e}

{d) Radon

Sulphur
Phosphorous

Lead

64. There are six electrons, six protons and

5ix peutrons in an atom of an element
What 15 the atomic number of the
element 7

(a) 6

(b)
(c)

(d)

12
I8

24

Which one of the following has different
number of molecules 7 (All are kept at
normal temperature and pressure)

{a) 3 gram of Hydrogen

(b} 48 gram of Oxygen

{c) 42 gram of Nitrogen

{(d) 2 gram of Carbon

Combination of one volume of nitrogen
with three volumes of hydrogen produces

{a) one volume of ammonia
(b) two volumes of ammonia
(¢) three volumes of ammonia

{d) oneand a half volumes of ammonia

ADN-S-FST - A

14

67.

Consider the following statements about
cactus

1. The leaves are reduced to spines.
2. The stem does the photosynthesis.

Which of the statements given abowe
15/are comect 7

(ay 1 only
by 2 only
(¢} Both | and 2

(d) WNeither 1 nor 2

. In which one of the following; methano-

gens, i.e., methane producing bactena are
mot present T

{a) Rumen of cattle
(b}, Aerchic emvironment
(¢} Anaerobic sludge

(d) Ebxcreta of cattle

Malarial parasite is a
(a) bacteria

(b) protozoa

(g} “Ims

() fangus
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67. F=0 & = A Feafatas s w ffEw

ifim -

1. ot g B Few AR e |
2. AT WS BT AT E |
IR e A A e R w R R
(a) FAHA 1

(b) ¥ 2

(c) 1 3 2 2

(@ 7 A LA T2

. Fraferitaa % & fom v o, S, sl

Al genfad e A sy, T w7
(a) qﬂﬁ%ﬂﬂmﬁﬁ{ﬁaﬂsﬁ
(b) SISt Fatawe

(c) WATHAR 9 H

(d) =t & wA-g3 @

. wafr-uoiE wn 2ov

() =am (i)
(b) S

(c) Toramoy (amee)
(d) =R ()

A — ADN-S-FST
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70.

T1.

T2

With reference 1o biodiversity, which of
the following statements is/are comrect 7

1. Species richness and high degree of
endemism are important criteria for
identifying biodiversity hot spots,

2. Species diversity is highest in the
tropics and decreases down the
poles.

1. Biodiversity conservation may be
in zitw as well as ex sifu.

Select the comrect answer using the
code given below :

(a} 1 only
{b) 2 and 3 only
(g} 1,2and3

(d) 1 and 3 only

It 1s difficult to kill viruses because they
(a) consistof tough protein coat

(b} are very small in size

lack cellular structure

(c)

{d). spend a lot of time inside the host’s
cells

When a ray of hight enters a glass slab,
then

{a) only the frequency changes

(b) frequency and velocity change
{c) frequency does not change

(d) frequency and wavelength change

ADN-S-FST - A

16

73.

T4,

i

T6.

A ball is thrown vertically upward from
the pround with a speed of 25:2 m/s. The
ball will reach the highest point of its
Joumey in

{a) 5-14s
(b} 3578
{c) 2:57s

(dy 129

One kilowatt hour is equal to
fa) 36 = 10° joule
(b

{ch

36 % 10° joule
107 joule

{d) 107 joule

When sound waves are propagated
through a medium, the physical quantity/
quantities transmitted is/are

{a) matter only
(b} energy only
{c) energy and matter only

{d) energy, momentum and matter

Pressure is a scalar quantity because

{a) it is the ratio of force to area and both
force and area are veclors

(b} 1t 15 the ratio of magnitude of force

o area
(e} it 1s the ratio of component of force
{normal to area) to area

none of the above

(d)

Downloaded From: http://iasexamportal.com
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2. wte fafaama sonsieaa § aftman
et & ffe i gt = s et S
2

3. dw B =1 g = =W (W
diz) 3 = T (U i) A OE
HeFl & |

A B3 0l gz W oEE W= OEE T
i

(a) A 1

(b) Faw 2 3

fe] 1,233

() Faw ] %3

71. Temmpe = aren w2, =it

(a) T FEE WA A EE S
(h) & 3BT & wEd B E
(c) T atiurebie W= 5 A E

(d) ot 7wt # seafies w
T &

72, 7 F% wa == F fosn ()

# wAe HEAr g, T gEe

(a) FFAw srgfy =t #

(b) Sk o ¥ s E

(¢) s el amw

(d) Fra s ai-Ged agen @

5

74.

75,

T6.

Downloaded From: http://iasexamportal.com
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fay 5143z
(b) 3357s
(o) 2:57=s

{d) 129s

= e o2 e o e # 7
(a) 36 10° 94

(b) 36 x 10° 5

(¢} 10° 5@

(d) 105 59

& =ty W el wem # eER @9t
gt & at = d it ofin /ol ao
B2/ 7

(a) T T

(b) FEw FAl

(c) =AH Fl 3R 7=

(d) AT, @ A 5=

o=, v sty ol ®, =i

(a) == & F, SAFE H A FE T,
T wH AR ATES Sl wled &

(b) TE =9 & yiemw &1, fNEA F Ay
FaE &

(¢) e WA (FAFH h A=) & qE
1, GATH F 919 I B

(d) swfer § & w1 =1
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18.

?9{-

A person 1s unable to read a newspaper
without his glasses. He is most probably
suffermg from

{a) myopia

presbyopia
ashigmatism
hypermetropia

The free fall acceleration g mcreases
as one proceeds, at sea level, from the
cquator toward either pole, The reason is

(a) Earth is a sphere with same density
everywhere

(b) Earth 1z a sphere with differemt
density at the polar regions than in the
equatoral regions

{c) Earth is approximately an ellipsoid
having ils equatorial radius greater
than its polar radius by 21 km

(d) Earth is approximately an ellipsond
having its equatorial radius smaller
than 115 polar radiuz by 21 km

Which one of the following statements
15 correct 7

(a) The measurement of mass taken by
a spring weighing balance is correct
at the place where the spring balance
is-calibrated for

The measurement of mass taken by
a spring weighing balance is correct
at all places

()

ADN-S-FST - A

I8

840,

81.

81

The measurement of mass taken
by -a spring weighing balance is
correct at the places where the
acceleration due to gravity is same
with the place where the spring
balance is calibrated for

(e

id) A spring balance cannot be used to

measure mass at any place

Which one of the following 15 mer a
contact force ?

(a} Push force
(b} Gravitational force
() Frctional force

(d) Strain force

When a [oice of 1 newton acts on a
mass of ! kg which is able to move freely,
the object moves in the direction of
force with alan

(a)
(k)
(c}

(d)

speed of | km/s
acceleration of 1 m/s?
speed of 1 m/s

acceleration of 1 km/s?

Which of the following items is used
in the houschold wirings w prevent
accidental fire in case of short circuit 7

{a) Insulated wire

(bl  Plastc swiiches

{c) Non-metallic coatings on conducting

Wires

(d) Electric fuse
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79.

e wrfen o =eR & fam oA T

e | gus fead difts B9 6 afie

HAEAT E ¢

(a) Pz g
(b) Y e
() =l
(d) wrEl

R A R, E S A A R A
fipet ot g o 3R e &, o g gaA
T g WG ST E | TR T FATE ?

() Tt U Tt & e T R

(b) Tt T e @ fawe e e
Tty ot o ey et o
Biar #

(¢) Tt T T dgew B e

e de e saeh e P
e 20 km @i R

(d) et w1 A @ Foret e
et e, e g e 6 e
21 km 4 2

Pefafaa i SR SR M O B 7

(a) Fedt wavier qor T oW
TR S AT TR R U e
wei & fon 99 SuWRER gem W
s i R

) FEft sweER g ogm fEow
TR A W EE W e
T 8
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80.

81.

81.

() Pt wwieR g Rl T
TS WIS S STl 9T HEl g
T WE w7 EEE T I8 e H
e e o A
SAHIEE G &1 SseA e
Bl

Feft RIS g0 & SEENT ST
o 3 fora faefT |1 2 W e

=1 JHFEAT

(d)

Forferfiam & & 29 W u=, s ww A
E 9

{a) YFHI =

T | kg TEATA A R B FE TR,
e | 7w e e wm #, 9 a9
fiprg =e ot e &

() 1km/s =@ & T
() 1 m/s W wEm A FE
(¢} | m/sl =5 & S

(d) 1km/s? ¥ =T & =W

s ot e 3 e s e
5 fot Fopeiforfises # @ 2 ot =g =1 weilm
ste Faelt & A s (Al o e
AT & 7

(a) g AR

(b) e e

(¢) =TerR ARl 9% AT oY

(d) o g
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83, Which of the following are the features

of the deology of utilitarianism ?

1. Utilitarians believed that all value
derives from land

2 The most celebrated spokesmen of
utthitanamism were Jeremy Bentham
and John Stuart Mill

3. Utilitarians were ‘advocates of the
idea that India could be ruled
through indigenous laws and
Customs

4. Iuhtanans were advocates of the
1dea of the ‘greatest good for the
greatest number of people’

Sefect the correct answer using the
code given below :

{a) 1 and 4 only
(b} 2 and 4 only
{c; 1,2 and 4

{d) 2 and 3

. Who among the following mvented the
powerloom that revolutionized the cotton

textile industry ?
(a) Edmund Cartwright
(B) Samuel Crompton

Richard Arkwright

(d} James Hargreaves

ADN-S-FST - A
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B5. Subsidiary Alliance was a system devised

86.

by

(a) Lord Wellesley
{b) Lord Dalhousie
{c) Lord Canning

(d) Lord Ripon

Consider the following statements :

1. Periplus is a Greek word meaning
sailing arpund.

2. Erythraean was the Greek name for
the Mediterranean Sea,

Which of the statements given above
is/are correct 7

(a) 1 only
(b} 2 only
{c} Both 1 and 2

{d) Nerther | nor 2

Who among the following was defeated by
Sama Nehwal to win the women's title of

the Australian Open Super Series
Badminton Toumament, 2016 7

{a) SunYu

(b) Carolina Mann

{c) Wang Yihan

(d) SungJi Hyun
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weEmE BE amean (whefmd oemae)
forad Zra st i 4

(a) E At

(b) =i Tt

(¢) =i FEm

(d) #7E R
foperfafia st ¢ P Bifire

1. g v g () v @
o ST AT 2 |

2. wiifi, a5 e ()

AT |
Fuden a1 A 8 A WA R/ 7
(a) A9 1
(b) e 2
(¢) 1 3 2 P
@ 7 @ 1,7 &2

mﬁﬁmﬁ.mﬁ%ﬂﬁmﬁﬁtﬁ
Sefien iz, 20169 witen famme e
% forn Frrfoafes & & 0 seemoar 7

(a) H19
(b) e AT

(¢} =W famm
(d) H A
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Consider the following stalements

He was an Indian journalisit, editor and
author, He was. assoclated with ihe
Statesman, the Guardian, the Times of
India ete. He received the Ramnath
CGoenka Lifetime Achievement Award in
2013. He died in June 2016,

The person referred to above is

(a) B K Karanjia

(k) K M Mathew

(¢} Inder Malhotra

{d) MNanasaheb Parulekar

Achyut Lahkar, who died recently, was a

{a} sports admimstrator

{b) wildlife photographer

mobile theatre personality

(<)

{d) - bureaucrat

Recently Microsoft announced 1ts 26-2
ballion dollar acquisition of which one of
the following professional networking
sites ?

(a) Parnerlip

(b} PerfectBusiness

{c) StartupMation

(4} Linkedin

ADN-5-FST - A
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91.

91,

Which of the following statements
concerning Medilemanean climatic region
.are correct 7

L It is found m the latitnde range
30° to 45° northern and southern

hermsphere

2, Mediterranean climate expetiences
extreme temperature conditions

3. In Meditermanean  climate, rainfall
occurs mmainly during summer
SEAS0n

4. In Mediterranean climate, rainfall is
mamly due to Westerlies

Select the correct answer using the
code given below :

(&)
(b) 1 and 4 only
(c)
{d) 3 and 4

1, 2 and 4

1, 2 and 3

Arrange the following states in decreasing
order of their towl area under forest
cover:

l. Jharkhand

2. Chhathisgarh

3. Amnachal Pradesh
4, Madhya Pradesh

‘Select the commect answer wsing the
code given below :

(a) 4-3-2-1
b 4=2=3-1
e}y 3—4—1-—1
B 2= 3 =4
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89.

frafafas st 7w e S .

| TF WA TAHE, HOEE U Waw
4 | % % Romim, T WA, 3 27w A
Ffea genfa # W8 70 a4 | I 20139
THATS  TOAET WIERCTEH e laHe
FaTE wTw fapm @ | I@eRt A A 2016

#at |
Fuen =aith &1 AW = 8 7

{a) =t & s
(b) ¥ T H

(c) &% weEm

(d) ATTRETES YrEdE

Foqa wea, faadl §9 EeEl WO
w4 7

(a) BF TYTHF

(b) AT DTH

(c) =e e (FrETe fae) =t
(d) R

. B T E A | ealEie e

Fafd wreEs A A B uE 262 e
e # wfimem &8 =W 1 T 67 E 7

(u) T
(by e
(¢} TETEHTAA
(d) forz

23

91.

92.

WHEETRE AGEgE Wew & A"y
et swtda s aah # 7

|, TE I @En Steei e # s
9O 300 F 45°H T A R

2. HERHTEE HeET] | =T A e
ol #
3. GHETETRIE wEa W, i e
wires = & 2R w2
4, YHETETE wear A, T9i g
AT AN & FRW Bl B
A ol i g w1 wEm R 9 9
T :

(a) 1,2 #R 4

(b) FEF 1 3K 4

(¢) 1,23k 3

(d) 3 3% 4

Frafifes o=l 51 39% 39 aa=efia
WA o BIAHTA W R saaieaa ehifed
| ARGEE

2. BETg

3, MG WY

.4,::&1:1&*&1

A2 i @ 3z % W #w wEl 9
s

(a) 4-3-2-1

By H=F=3=1

¢y 3—4-1-2

@ 2-1-3-4
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93. Which of the following statements Code :
concerming  Scheduled Castes  (5C)
population in India are correct ?

P
I
L

L The highest percentage of SC @
population out of the total population {h)
of the state is found in Punjab

1\ ]
s
45
Lk

= e 1 4 2
2. Bihar is the second largest state in

respect of total 8C population in India @ 3 4 i z
3, Uttar Pradesh has the highest number 95, Which one of the following species 13
ol 8C population in India mof capable of showing dispropor-
tionation reaction 7
4. Among the Indian states; the lowest (@) €O~
percentage of SC population out of '
the total population of the state is b)) ClOz
found in Goa
(c) ClO7
Sclect the comect answer using (he ML
cade given below : SRS
(a) 1,2and3 96. Which one of the following statements
i5 correct 7
(b) 1 and 3 only (a) Covalent bonds are directional
(e} 2and 4 only (b) lonic bonds are directional
(d) 1,2and4 {c) Both covalent and jonic bonds are
~dirgctional
04. Match List | wath List 1l and select the (d) Both covalent and ionic bonds are
cofrect answer using the code given non-directional

below the Lists
97. When one strikes a salety match, the first
Last I List T step is-
{Element) (Highest Falency)
(&) buming of sulfur

L L . :
B S i {b) - decomposition of potassium chlorate
B Phssahorons 2 Qi into potassium chionde and oxygen
(¢} conversion of 2 small amount of red
€. Lead 3. Two phosphorus into white phosphoms
D, Silver 4. Four {d) buming of gluc and starch
ADN-S-FST - A 24
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93, AA # FEEE it (SC) F Sree |
ety Fefafes 991 4 8 914 @ ot
g7

(I e R A e e p e e o e
1 gitre ooE 7 sty aar mn
2

2 WRA § 9 SC wEem & fawm
fereme swr v =g o 2

3. WA H SO AT o SieE et
T TR W R

4, WA T H, T I HE AAEe
# H SC e w AFas Wi
=T H 9T A

GER G R Tl D e e
T :

{a) 1,2 a3
(b) 9= 133
(¢) &Ha7 29T 4
(d) 1,254

94, w1 [ 1 1@ gefm il o gl
% A3 f0 T e 1 i TR I

fr

il A1
(7rex) (Srew waTwT)
A, T L. o
B. HFRRH 2 &
C. Hiw 3w
D. ST 4 9W

-

(a)
{b)
(€)
(d)

95, Frefefam oitdis & & =87 @ o,
smmTaa wfifear feas # aad T
g2
(a) ClO-

(®) ClO;
(e} ClO7
) Clo;

[ PD - R
B = = s B
el T T
MR W W

0. P i d A s m s ot 2 7
(a) wemgrwl wmEa i £
(b) amEHt mEy fefies #
(c) ?r!-%m’liﬂ“l qGT HEA HEH, T
i 2
(d) wEEgE 99 Wl sy, 2l
afefirs #

97. 5 FIE g o St At = aad
Tt ox vrgen B, oY une =0 9w 2
27

(@) TEF T A

(b) Trefirmy wE a1 TEfine S9RE
UE HiEEET 7 AT

(c) ®TE HewRww h 3FT JA F1 AHG
FIERRH | BT
(d) & (W) 791 & F T
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104,

101.

The LPG cooking gas contains propanc
and butane as the constituents, A sulfur
contaming compound is added to the LPG,
because

{a) it lowers the cost of production
(b) it enhances the efficiency of LPG

{c) it facilitates easy detection of leakage
of the gas

{d) it assists in hiquefying hydrocarbons

The genetic material of bacteria is found in
{a) mnucleus

(b) eytoplasm

{c) cell membrane

(d) nbosome
A horse and a donkey can breed to
produce mulé which 15 an infertile animal.

The migmlity is because horse and donkey
belong 1o differem

{a) class
(b) order
{c) species

(d) genus

A plant having yellow leaves with dead
spots has the deficiency of

(a) Potassium
(b} Mapnesium
(¢) Nitrate

{d) Phosphate

ADN-5-F5T - A

102. Fluonde toothpaste s

BOIMEtimas
recommended because Nuoride

(a) prevents plaque formation
(b} hardens the enamel of the tooth
{c) lkalls pathogenic bactena

i(d) prevents oth ache

. Along a streamline flow of fluid

(@) the velocity of all fluid particles at a
Eiven mstant 1% constant

(b} the speed of a fluid particle remains
constant

{c}) the velocity of all fluid particles
crossing a given posilion is constant

{(d) the velocity of a fluid particle remains
constant

How is the kinetic energy of 4 moving
object affected if the net work done on it
i5 positive !

{a) Decreases

(b) Increases

(e} Remains constant

(d) Becomes zero

A particle is executing simple hammanc
motion, Which one of the following

statements about the acceleration of the
oscillating particle is true 7

{a) It isalways in the opposite direction
to velocity

{b) It s proportional to the frequency of
oscillation

{c}) It is munimum when the speed is
A imLm

(d) Tt decreases as the potential enenzy
Inereases
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99.

109.

101.

PG s 9 3 Uit 3% =i 590 & o
i B £ | LPGH T ey ars i
foam s # Y

(a) TE ST F AU F T T E
(h) TE LPGHl TEan Fi =5 B

(¢} TR W & TEm w1 FEE A T
o # v e &

(d) UE ETEEIERIEAT ol piee dhd # AR
T R

T w1 arEiE g fE awn
T 7

(a) FEH

() Frfim=

(c) TR~

(d) TEEmEE

T 1 AR U T A G W 9e
He & o1 U e g | ol ma
Frfafa 4 & 2hae fieen & om0

AT Bt & 7

(a) waA

(b) =5

(c) wifa

(d) =&

ET R Rl o B e e B

iz Faafafae 7 & frg o ol 5 w5
g7

27

102.

103.

lmf

5.

TS G WA AT FE-wHT G
4T T ATl 8, i THARIEE

{a) I F FAA F FAT B

(b) =7t % T & g5 St §

{c) THTSE FEET i Hear 2

(d) =l % ga o A e f

forelt it 3 e Tl wATe & AR

(o) Tt Bifssm oo 9 ey w39 = =0
3 UHHT B ®

(b = Fo o nfy AR i w8

(c) Pt fivm fafa = v =0 @
T A ] A TR BT

(d) T T H FT IATES] A 8
femeit wittmmm T9e & ofaw =21 foem v
waTfE B & alt 37 = B fz w

YT B 7

(a) = 8 ==l 2

(b) =z el &

(c) srafeadt et 8

(d) ¥ B o 2

WL 7 44 A N # ¥ | Gl

= wEitn Freatafaa # 8 9 @ w99

5

(a) a% Aty A F e e F S

(b) 4 She ot s & wEEaE B R

(c) == nfq wfiwen et &, 7=
e OGLEGIE

() 8- fEafe ol s o R o
=0 BE AT 8
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107.

108.

Which one of the following four particles,
whose displacement x and acceleration a,
are related as follows, 13 executing simple
harmonic motion 7

(a) a,=+3x

) a.=+3¢

(c) a.= 3

{d} a.=-3x

If we plot a graph between volume V
and inverse of pressure P (1.e., —‘LJ for an

ideal gas at constant temperature T, the
curve so obtained is

(a) straight line
(b} circie

(c) parabola
(d) hyperbola

Which one of the following statements 15
correct 7

(a) The speed of sound waves m a
medium depends upon the elastic
propetty of the medium but not on
Inertia property

(b) The speed of sound waves in a
medium depends wpon the inertia
property of the medium but not on
elastic property

{c) The speed of sound waves in a
medium depends neither on its elastic
property nor ofn its inertia property

{d) The speed of sound waves In a

medium depends both on elastic and
inertia properties of the medium

ADN-5-F5T - A

23

109. Which one of the following statements

is mar correct 7

{a) Pitch of a sound is its charactenstic
by which we can generally differen-
tiate between a male voice and a
female voice

{b} The loudness of sound is related to its
frequency

{c) A musical sound has certain well
defined frequencies which are
generally harmomics of a fundamental
frequency

(d)y The timbre of a particular musical
sound is related to the waveform of
the sound wave

110. A particle executes limear simple harmonic

motion with amplitude of 2 em. When the
particle is at 1 cm from the mean position,
the magnitudes of the velocity and the
acceleration are equal. Then its ime peniod

{in seconds) 1s

Ay

@ 5

£}

27

(b)

B

D
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106. Ftatas s 5o 8 & =i w1 o, faae

107,

108.

Toear x R =w o, 1 Ro on wEw #
waftr #, ot e M s w7

(a) a;=+3x
(b) @, =+ 3:F
(€) a,=— 3
) e=-3x

af em et smael A & o savdt am 7
T T Ve P ufiet (ah )

35 i o 9 SRR 5, 5 A

7% Fm wam %=1 g 7
(a) %

(b) T9

{c) 9E=Y

(d) s

frrforfias 4 @ &5 &1 v Foe wEr @ 7

(a) ot wrem § e & oafy,
e F weavea e vt e s
B, 7 o ey oenf oz

fordit mem ® ey st & ook,
mern % wge sl w frlk we
& 7% e e w

Teft otz 3 el i < nfa = A
T wEEy eH WA A e
g o e frfe et 2

&t mom # wfy o £ ofa
Ve A W, & Al W
foofe waet 8

{t)

(e)

{d)

29

109, Fafafas # & =99 W o S 75 785

110.

22

(@ =f =1 e (f9) swar =
sif¥ese & fores: g an o
I =T T S T A i g
T

(b ==l & waerar gadhi sy & el
il

{a}ﬁﬁmﬁﬁﬁﬁﬂ?ﬁ

ffee smafoal 2t & < smaworan
e STl A HAE Ee

(d) forat fafire woitfs afa 6 afs-
T, B a0 & a-E @ Hatha
gt &

UF 59 2 cm & AW F A0 L@ g
g it wan & | =" Fw wen feafy &
1 em 9T #, 9 3R w=EO F gfonm auw
£ | 7= s s (FEv ) w7

{a})

{c)

(d}
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i12.

113.

114.

Which one of the following statements
is mor comect ?

(a) The longest wavelength of [Fight
visible to human eye i5 about 700 nm

The shortest wavelength of light
visible to human eye is about 400 mm

(b}

The wavelength of gamma rays 1s
lomger than that of X-rays

(c)

{d) The ability of a telescope to form

separable images of close objects 15
called its resolving power

If the image of an object, formed by a
concave mirror 18 virtual, erect and
magnified, then the object is placed

(a)
(b)
()
(d)

at the principal focus

at the centre of curvature

beyond the centre of curvature
between the pole of the mirror-and
the principal focus

When three resistors, each having
resigiance », are connected in parallel, their
resultant resistance 15 x. IT these three
resistances are connected in seres, the
total resistance will be

(a) 3x
(b) 3rx
(cy 9%
(d) 3ix
Which of the following was/were the

feature(s) of Lenin’s New Economic
Palicy (NEP) for the Soviet Union 7

. Private retail trading was strigtly
torbidden

2 Privale enterprise was
forbidden

stnetly

ADN-S-FST-A
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115.

3. Peasants were not allowed to sell
their surphes

4. To secure liquid capital, concessions
were allowed to foreign capitalists,
but the State retained the option of
purchasing the producis of such
concems

Select the correct answer using the
code given below :

(a}
(b) 2and3
(e)
(d) 4only

I only

1,2 and 4

Which of the following was'were the
reasons for the defeat of British during the
American War of Independence 7

. The remoteness of the Amercan
Continent and the lack of good roads

2. The British authorities failed to rally
the loyalist Americans

3. The Amencans benefited from the
extraordinary military leadership of
George Washington

4. The Amencans had access
superior arms and ammunition

ta

Sglect the comrect answer using the
code given below ;

(a) 1,2and4
(b} 3 only
(¢) 2-and 3 only

{d) 1,2and3
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1.

112.

113.

114.

frfataa @ & = W v wua v ol

27

(a) AT 7 T To@rs qE AVl e

A FHE] q-95 FAT 700 nm - #

AT A5 i ToErd g2 1t e

TEH g TFAT-ae WHET 400 nm &

- et o -2, -

F-ael 4 ufte 2

el e o, win & s 3

we o i A A wfalEe ==

&1 T 1 gEe e auar g

L

ﬁﬁ#}maﬁmﬁrﬂ?ﬁmm

wiafesa sy, sof- g wa anafifa 2,

= AE 75 we wEfem 2 7

() e FIFE W

(b) TeRET-Sg R

() =ehal-Fg & T

(d) 79 % = (99) AR 955 FEE &
G

W= AW Wi, weie - wiey 9,
T HI2 AT 8, 7= I arEr when
x | aft 98 o wfid A we § o
AT el T e Wl g 7

&) dx

(b)) 2rx

(¢) Oz

(dy - 3ix

Wﬁlﬁﬁﬁﬁﬂﬁﬂmfﬁﬁﬁwm%
Toru wifem 1 o afifes e (NEP) W1 /%
sfiremr ar /4 7
1. Tt g = ol o wff @
2. it 3em i e =i

(b

(<)

(d)

3

115.

3, afeeti = 3% afine # & fi
Aguta w2

4w gt f wiw F fom, RRd
Goftafit =1 feamd & wf b, we
= 7 U whieEl & e w aden
w1 faweT a9 o = o

A 2 W g w oW w3 o
Hfem

(a) T 1"

(b} 2 &3

(c) 1,2 3K 4

(d) a4

IR & TR auw & A Rl
g F1 /% fFefafes @ 9 o /f

TR 9T/ 7

L. sl wErEv = g S e s
HH T A

2. Tfew wen, amfecht Fremamt =1 32
% Taws

3. Faiht, o ATfimes & smnEEm
 #7 g & A g

4, wdifrat € W Awer wei g
TEAT-ARER He A

AR T W 3= @ v = wE I
S

(@) 1,2 M4

(b) F= 3

(¢) 4 2 3K 3

) 123K 3

A — ADN-5-F5T
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116. The industrial revolution i England

had a profound impact on the lives of
people. Which of the following statements
are corréct about that 7

1. Wamen were the main workers in the
silk, lace-making and knitting
industries '

Factory managers were well aware
of the health risks of industrial work
on children

3. Children were often emploved in
textile factories

4. The novel ‘Hard Times® by Charles
Dickens was a severe critique of
the horrors of industrialization

Select the correct answer using the
code given below :

(a) | and 3 only

(b) 1and?2
ey 1,3 and4
{d} 3and 4 only

117. Consider the followmng statements

1. British colonialism continued to
grow steadily in the |8th and 19th
centurics

2. Raw cotton for the textile indusiry
in Britain during the industrial
revolution needed to be imported

ADN-5-FST - A

.

118.

119.

120.

Which of the statements given above isfare
eormeck T

{a)

(b} 2only

| omly

(c) Both 1 and2

(d) Nesther 1 nor 2

Who among the following was the author
of Neel Darpan, published in 1860 7

(a)
{b)
(c)
(d)

Reverend James Long
Michae! Madhusudan Dutta
Raja Ram Mohan Roy

Dinabandho Mitra

Which one of the following organizations
was started by Jyotirao Phule in 1873 7

(a) Prarthana Samaj
Bahuwjan Samaj
{¢) Justice Party

(d) Satyashodhak Samaj

Although used earlier by French and
German  writers, the term ‘Indusirial
Revolution' in Enghish was first popularized
by

fa) Adam Smith
{b) Amold Toynbee
{c) James Ml

(d) Bertrand Russell
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116, Sz A sl il &1 s 5 s

AT WS T | 9 AR W fretaias B a8
o ¥ waa g v

| igm, w8 T @R g s 8
nfeam weE FwE A

2 =6 w AwEfe wd F =mem
feEr & =1 F G yEaw
e | s o

3, T F AW FREET H W F6 w
AL ST AT

4 = fidey =1 9= o o
AT & a1 T A
=t

A4 5 @ gz W o oA T
i :

(a) =@ | #W 3
b) 132
(€) 1,33 4

(d) Fa=3 31 4

117. Fe=falas w=71 w far fifso

1. fafen  sofdiwmr seredt R
e et o Faftg ofy & e
=gl o7 ' A7

2. fa2m 1 swnfie wifs % S soa
s & T e 9@ 1 S
e A

33

118.

119,

120.
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T FAA W A A WA w7
(&) Fa |

(b) e 2

(¢) 1 3% 2 S

(@ 7 & 1,7 # 2

1860 7 wilim, ‘Hrm oohn’ w5 dww
frsfofas @ @ alla @ 2

(a) ¥adE S =i

(h) e HEHEA T

(¢) T T Hied

(d) =g

1873 %, =Aifaoa oo g, Freaffes
AT H H w AU A Ry w7
(&) WHEAT AT

(b) HEwA T

(o) feem orE

() FEITSE 9HE

fargea’ s =1 i ued T
A # advan e oo S
=T A 7

(a) uzw ferg
(b) T T
(c)y s foe
(d) =fs@=

A — ADN-S-FST '
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121. In the [19th century, the majonity of the {a) Five ycars
workers in Japan’s modemn industries
Wiere muanly () Four years

{a) Japanese men and children () Three years

(b} Japanese women and Chinese men (d) Two years

(¢) women
124. Which of the following statements about
(d) Japanese and Chinese men Krighi Kalyan Cess (KKC) is‘are comect !
. KKC is calculated in the same way

122, Which of the following statements as Service Tax is calculated.

regarding recent developments in mter-

: it ;
national affairs isare correct 2. The current rate of KKC is 0-50%.

1. NAT(O's defence ministers agree to

boast support for Ukraine with a 3. KKC is similar to the KKS (Krishi

comprehensive package of assistance Kalyan Surcharge)
which will help it strengthen defence ]
and to modemize its armed forces. Select the comect answer using the
code given below :
2. Israel announces plans for construc-
tion of dwelling umis for Jewish (a) 1,2and3
gettlers in a Palestimian neighbour-
hood of East Jerusalem. {b) 1 and 2 only
Select the correct answer using the (¢) 2 and3 only
code piven below :
(d) 1only
ia) 1only
(b} 2only 125. Which country won the Thomas Cup

Badminton Championship, 2016 7
{c) Both | and Z

(a) Indonesia
(d) MNeither | nor2
(b} Denmark
123. As per the RBI guidelines, which one of Ching
the following is the minimum tenure of (el i)
Masala Bonds that an Indian company can :
issue offshore 7 {d) Malaysia

ADN-8-F5T - A 34
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121.

122.

123.

FATE! yAE A s s
AferwTS T w4 7

(a) WA TEW M =e

(b) A Al 3 S TEw
(c) iy

(d) ST AT =i g

AR AR # 7 & wEEH & A
B frefafen awa1 o @ 29 /8 o
2/E?

. NATO & &7 #=1, @FEEl & US
e W & Wy, T & fo
HHA 1 HTET 54 W oA T, A
TH HT T W WA W, a9

a & awt & smyfrEan #
TEFE BT

2. 3R A YE geywm FouEE @
frfuferdt &= & aeat aftarfiet &
o s et & fwin
grwatat 1 g § 2

¥ B 0@ g2 W W o A Ew

T ;

(a) Faa |

(b) e 2

¢y 1 3% 23m

(@ T 1,7 @2

RBI = Avfesil fagral & sqaw, wamen
gt ft, fordt w1 W @t s |
SR % w8, e wafh e |
# 3t uw 8

(a) s ad
(b) =% A
{c) TH=E
(dy =rad

124. T == Iuet (KKO) & =R #

Freafofan wodl # & =9 w8 T
B/R 7

1. KKC 381 war uifia e = 2
Tom wwn af¥s %= ofi=fm
ST R

2. KKC 1 adam 52 0.50% &

3. KKC, KKS (Ff F=m i)
Hadl @

GIEIRCCRE Gl wa i  a
wAm

(a) 1,2 a3
(b} F&w 1 &R 2
(c) a2 W3
(d) & 1

125, afad &9 deiied Afogafae, 2016 B

i i B
(a) EREm
(b) TErE
(e} =M

(d) wafEn

A — ADN-S-FST
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126. Match List T with List II and select the

127.

correct answer using the code given below
the Lists |

List1 List
{Ulira mepa fState)
fronEr profect. af
different stages
of develapment)
A, Sasan 1. Gujarat
B. Mundma 2. Madhya Pradesh
. Tilaiya 3. Andhra Pradesh
. Krishnapattam 4. Jharkhand
Caode :
A B C D
(a). 2 4 | 3

The world's largest biomass cookstove
system for cooking in community kitchen
has been installed at

{a) Tirupati
(b} Amritsar
(¢) Shirdi

{dy Udupi

ADN-S-FST - A
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118.

129,

130,

Which one of the following sectoss 1s
the largest contributor to carbon dioxide
ermissions from fuel consumption in India ?

{a) Electricity and heat production
(b} Transport

{c) Manufacturing industnes and con-
structions

(d) Others

As per census 2011, which one of the
following states has the highest number of
inhabitated villages 7

(a) Uttar Pradesh

(¢) Rajasthan

{d) Maharashtra

The property of electric current which is
applicable in the fuse wire i3

chemical effect of current

(a)

(b)

magnetic effect of current
{c) heating effect of current

{d) optical property of current
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126. a1 1= g 113 gl $ifm g g

127.

& #4 fon oo = W I A e
A :

gl a1l
(o % fafirn (=)
T 9 MR AW
T W )
A, HIEA L. e
B. 7@ 2. WA WaW
C. frdm 3. 304 wou
D. FHEH 4, {EE
T2

A B € D
@ 2 & 1 -3
123 R T )
@ = s
@ 3 1 4 2
arefrs v & gl & fan fie 6
TEH AT T WAl HE aear
TR
() foreafa
(b)  3EaEt
() Fardt
(d) =i

37

128.

129.

130.

Frefafias st 8 3 2 o o, W A
9 WU W S IISHTEETE S 3
= T2 ANEAEA B 7

(a) Prgm stk zen gegmm

(b) TiEEA

(c) Fafmior zam Fa7 Fafon-wd

(@) =

2011 F T F aEw, Fretatas
Tl # & B ous 9@ o owidl B
Fitrrem den & 7

(a) O WEH

(b) st

(¢} TrEEAH

(d) HERTZ

g A H AR R i A e
BT & ?

(a) ©HI T Tl WA
(b) T T =R RHTH
{c) BRI A9 THE
(d) =T =T W T

A — ADN-S-FST
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131.

132.

133.

Which one of the following statements
ig mof correct 7

(a) The SI unit of charge is ampere-
second

(b) Debye is the unit of dipole moment

(c) Resistivity of a wire of length / and
area of cross-section a depends

upon both Land a

The kinetic energy of an electron of
mass m kg and charge e coulomb,
when accelerated through a poten-
tial difference of ¥ volt, is el joule

(d)

Two balls, 4 and B, are thrown simul-
taneously, A vertically upward with a speed
of 20 m/s from the ground and B verncally
downward from a height of 40 m with the
same speed and along the same line of
motion. At what points do the two balls
collide by taking acceleration due 1o gravity
as -8 m/s'?

{a} The balls will collide after 35 at a

height of 30-2 m from the ground

The balls will collide after 25 at a
height of 20:1 m from the ground

(b}

The balls will collide after 1s at a
height of 15-1 m from the ground

(€

The balls will collide afier 55 at a
height of 20 m from the ground

(d)

The setting time of cement is lowered by
adding

{a) oxides of alummium
(b) gypsum
{¢) oxides of magnesium

(d) sifica

ADN-S-FST - A
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134.

135.

136.

Emulsion 15 known as a

(a) colleidal solution of substances having
different physical states

true soluhon

{b)

(¢) distillation mixwre for

alcohols

making

{d) colloidal solution of two liquids

If one mixes up ashes with animal fat, the
substance received in the crude form 1s
called

{a)
(by Soap
[e) Ceément

Pheromone

{d) Concrete

Which of the following statements with
regard to coverage rate of Aadhar cards
during 2015 is/are comect ?

1. The coverage rate of Aadhar cards in
western India is quite high and it is
above 90 per cenl in Gujarat

The coverage rate of Aadhar cards i3
the highest in southern India and it is
almost 100 per cent in the states of
Telangana and Andhra Pradesh

3, The penetration of Aadhar cards has
been very low in north-eastern part of
India and it is the lowest in Assam
and Meghalaya

Select ‘the correct answer usmg the
code given below :

{a) 2only
(b) | and 3 only
{¢) 2and 3 only

{dy 1,2and3

Downloaded From: http://iasexamportal.com



Downloaded From: http://iasexamportal.com

131.

132,

133.

trafafts 5291 & & 99 oW o 5
a7
(a) 3w Fr SI TrE U -Adkez

(b) ==7 foga sl it o=l 2

(c) waTE | 3 Ayer gftse 899 o
% T AW St W [ ot g 2Et
o it g 2

(d) F=AE m kg T AEY o FeOW F
ot g f ofw ==, =
e & T § 2 9 53
W, eb S A 8

B W4 SR B A, 4 F oA

20 m/s =t 7 F Tt I i dw Ay

B 40 m 1 F973 § At A% F7 ow,

T T 7 7 i 6w A,

Y o omm 2| e abm om=w

9.8 m/s! 9d 2O, A HE T g =

T 7

{a) % FEE H 302 mF FAE W 38 F
G eIt

(b) 7§ WHA @ 201 mFt FEE W 25 F
=15 2T

(c) 7% FEAH 151 mFTFAE R 1 F
=15 ZEATI

(d) = 20 mF FAE R 55 FA®
AT

e & Argg wRE w1 T o e
T s # 7

(a) g w1
() Fo=m :

() Haifirm o st
(dy firferem

39

134,

135,

136,

eI & R w # A e 8 7

() Tafime sitfrs smenst o ool =1
Fiatget Fmm

(b) aTETrEE e

() TFEIETe S o Ton dveee i

(d) = 51 = s e

aft; i T 1 w9 = % e frem e
it w H W T e S g e

{a) R

T4 2015 F PR aaw I & R
T (Faia ) & A # Pt 1 2w
GV -

. 3w 1 Ft e o wivad-wra
# w aitm & o e # aw
90 wisrT & sifirs 2

2. smam % Fit freme ot afmit-wma 7
a2 & A= T g wen
T H R s 100 Wi &

3. W & FE- Al q # s w5
T HEA T T ¢ AAT A S
Hereg | 77 A

A il W o W oy o wE oo
ﬂ'ﬁ'l't{:

(a) &9 2

(h) FFF 1 3R 3

(c) Fam2 AW 3

(d) 1,233

A — ADN-S-FST
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137. Which one of the following is the correct 2. Isotherms are parallel to latitade
descending order of couniries in terms of Southern Hemisphere m oceans
per capita availability of arable land 7
3 Mimmum temperature during winter
(a) India ~ Chinz — Brazil is recorded in Northemn Canada

(b) China — Brazil - India Select the correct answer using the

(c) Brazil - China— India s geoiBoion ¢
(d} Brazil - India — China (a) 1and2only
(b) 1and3 only
138, Match List T with List 11 and select the
comrect answer using the code given below @) 1,Zand3
the Lists i
List 1 List Tl e 2 iy
(Geomorphic (Feature)
Agent) 140. Which of the following statement(s)
concerning natural regions of the world
A Grround water 1. Plunge pool b s Ty 8
S S AR 1. Equatorial climatic regions have less
C. Glacier 3. Playas urbanization
D. Wind 4, Lapies 2. Mediterranean climatic regions have
high level of urbamzation
Code
3, Equatorial climatic regions have high
A B C D concentration of human population

{a) 4 [ 2 3 4. Mediterranean  climatic  regions

w3 % i 4 practice plantation farming
) 3 1 2 4 Select the comrect answer using the
code given below :

(dy 4 2 1 3
{a) 1and2 only

139. Which of the {following statements

conceming temperature is/are correct 7 (B} I, 2and3
. In winter season Isotherms in (¢} 2and4
Northem Hemisphere are more or
less circular on continents (d) 1only
ADN-S-FST - A 40

Downloaded From: http://iasexémportal.com



Downloaded From: http://iasexamportal.com

137.

138.

135,

it & % = v, ofy b =fo-
A1 T I % HET 9 g9 W
WET AR HTE B 7

(a) WHF — FT —FHA
(b) = - F — W
(¢} HEE — T - ARA
(d) FTHA — HEF — 1

A [ gt 11 A gt il ok gl
R G e Tl B T B

Hﬁt{:

Al il
(q-avFfo= ( srfireem)
Aftres)

A HH-TE 1, WI-FE
B. WaTel 7 2. = (&)
C. EHe 3,
D. 957 R
& : _
A B [ & D
(a) 4 1 2 3
1oy e I L7 N
ey 3 | 2 4
(dy 4 2 1 3
arET W watia, fretefas # 8
a1,/ o wE 7
1. 47t 67 3 3991 M2 4 5aa tan
HETRIT O ST e g E

41

140.

2, sitit Mmrd F wemwer § e
TEm FaTe & wEER AR

3. 4t g # Frrererm o St weet
3 5o Frar s 2

A ol T FE W VAW % wE S

EiE

{a) Fa9 1 32

(b} A | T 3

(c) 1,2 33

(d) 2

e 3 wigfer @1 & s, Fnafif

WA wE /e s w8 2

1. foeeeita SeAnEt wealt Ao
FH TAT

2. WWTHREE At e O wd sy
TR AR EAT B

3. fagaem seEmEET wia # wee
FATET St T AT

4. WHEAATEN AFAEE ST # o
T iy

= fE T g wm wan = e IR
Rl

(a) &= 1 #¥ 2
by 1,23k 3
(c) 2 3T 4
(d), ¥ 1

A = ADN-5-FST
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141, Which one of the following gases gives
acidic solution on dissolving in water ?

(a) Hydrogen
(b) Carbondioxide
{c) Nitrogen

(d} Oxygen

142. How many moles of hydrogen atom are
present in one mele of Aluminium

hydroxide 7

(a) Onemole
{b) Two moles
(c) Three moles

{d) Four moles

143. The United Nations proclaimed 21 June as

(a) International Mother Language Day

(b) Intermational Widows' Day

(¢) International Day of Yoga

(d) mternational Day against Drug Abuse

and Mlicit Trafficking

144, Who are PBhawana
Chaturvedi and Mohana Singh 7

{a) Sprinters
(b} Rock climbers
(¢} Fighter pilots

(d) Mountainecrs

ADN-5-FST - A

Kanth, Avani
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145, Consider the following statéments about
the Constitution of India :

1. A Member of Parliament enjoys

freedom of speech in the Parhiament
as a Parliamentary Privilege pro-
tected by the Constitution of India

The Constitution has wvested the
power to amend the Constitution in
the Parhament.

Which of the statements given above
istare correct 7

(a) 1only

(b)
(c)

(d)

2 only
Both 1 and 2

Neither 1 nor 2

146. Which one of the following statements
sbout the Union Executive m India is
correct 7

(a) According to the Constitution of

(b)

()

(d)

India, the total number of members of
the Council of Ministers cannot
exceed 20% of the total number of
Members of the House of the People

The rank of the different Ministers 15
determinesd by the President

The Ministers are appointed by the
President on the advice of the Prime
Minister

Only 2 member of either House of
Parliament can be appointed as &
Minister
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141.

142,

143,

144,

Frkfmddshd tmmwmigmn
ety s et & 2

(a) BRI

(b) A At

() I

(d) s

el EEgTE F U A | g

T % feher e forepa B € 7

(a) T Hiw

) A

(c) @ 5

(d) = =te

4 T 4 2154 B R F ww @

Aiftr foeam 7

(a) ST AT Wt foam

(b) simw fawar feaa

() s = fo

(d) 75w FE-¥99 U9 WAy G &
TaEg Faariy femm

FHE 7

(a) gHEE

(b) e

(¢) Tg= FHum wws

(d) TEARE
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145, 7 & Afyym % ) # fefafm s

| U G Hee, wes o s &
Al w90, WWE & afam
T el vE gesE fEmniiar &
i o

2. afaam 7 @iy 1 wenfie =5 &
ufth wae @ fafeg 1 2 |

Fofn weAl A § w1 wn /A wd g8
(a) & 1

(b) e 2

(e} 1 3R 2 I

(d) 7A@ 1,7 &2

146, W # @9 Ffafe & an # fsfafa

TR A I MO g 2 7

(a) wWE & AfEE % FEER, wfs-afigg
& "aent I g, @tw w5
TEEAl 1 T HE & 20% # whi
TET B WAt

(b) fafi st £ aoft (3 ) =1 feufan
ety w7 faa e #

(c) =Pt i s wam 5= £t 5o
=, meafy ey A 2

(d) #ws & ToRell U% Wem % weE = A
=it & = # fages faam w2

A — ADN-S-FST
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147, Which one of the following. siatements

about Meney Bill is correct 7

(a) A Bill shall be deemed to be a
Money Bill enly if it provides for
imposition of fines or penalties

(h) A Money Bill shall be introduced m
the Rajya Sabha

(¢} The Rajya Sabha can reject the
Money Bill

{dj The Speaker of the Lok Sabha finally

decides if it 15 a Money Bill, should

any dispute about it anise

148. Which one of the following powers of

the Prime Minister of India 1§ codified
in the Congtitution of India itself 7

(2) The power of advising the President
as regards the appointment of other
Ministers

() The power to allocate business
amongst the Ministers

(¢) The power to summon the meeting of
the Cabinet

(d) The power to transfer a Minister
from one Department to another

ADN-5-F8T - A
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149, The cylindrical stone seals were used in

150.

which civilization 7
{a) Harappan
{b) Egypuan

(2} Poman

(d) Mesopotamian

Which of the following stalements
with regards to the Civil Disobedience
movement isfare correct ?

1. The movement received massive
response from business groups and
peasantry

2. The movement coincided with large
scale labour upsurge in Maharashtra

1. The movement was marked by the
mass participation of lawyers and
students

Seleci the correct answer using the
cade given below

{a)
(b}
{c) 2 and 3 only

1 only

| and 2 only

(d) 1,2and3
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147. 57 T4 & e A Frefafas vt 7 & 149, SFFTHR TN TEIHT 1 SR w

EaCE o H T e o 7
(a) et foimw =1 am Rdow o wm (a) FFW
W TR st wyaT et iy B
#* W = gy
[} T
) =7 falns oo wm # qents e S
R (dy At
(¢) WA WHT &9 TRRAE WA G sq. i s sise & der § P
HeheT 2 FEATH A WA A e iR
) afswF A 56 R g, @ I 30 a5 W MR AEE
FlE w1 Fee A fokr w2 | & =9 quds fien
5 =5 fafys g+ fadas 2 :
2. 7 S, HERE # =3 30w g
148. 9Fe & 9t w=t #1 fafalaa ol & AR SR R i S
# FF AW oUm, WA & Afaw # & 3 gt IR RenBi & B
ez 2 7 AT 6 Sfaree ot R 6
(@) 5o vt o o 3 o 1 v T T I g = R W A
Wt T = A T ;
(b) S e wret By (8). 1951
() wiem ) dew 9 57 A b by SFER e
(&) Tt st e o @ o et S s
wRTaRE F0r A wfn (@ 1,233
45 A — ADN-S-FST
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TE A STOET OE TS QIS Wi F A HE WY ad a% T g
AL L ADN-S-FST witere qfeaeT dER

T qEenT

AT AROET G

o - W e At dim e woTiE ;600
LREa

1 wﬁmmﬁﬁﬂiﬂﬁrm,quﬁwg%mﬁmmmﬁﬁ:miﬁﬁmw,
mmwwwmmmﬁ#ﬁmﬁﬁmtﬂﬁwﬁqﬂmgﬁmﬁmﬂﬁm
2. ‘gﬂmmtﬁ‘ﬁ?ﬂmw-mﬁ.aﬁmmm,ﬁamaﬂtﬁwgﬁﬁmwﬂﬂﬁﬂﬁl]
mn,CmﬂﬂTmﬁﬁﬁm&ﬁymm%uﬂﬁmmﬁwm
ﬂtqﬁd&ﬂm%ﬁaﬁjﬁﬁnﬁtﬁﬁnﬁﬁm-mﬁmmﬁml
3. mqﬁﬁﬂtgﬁmnmﬂﬁqmtﬁmﬁﬂmm
iﬁﬂﬁﬁwglﬂﬂﬁﬂﬁmﬂﬁ!ﬁﬂﬁiﬂl :
4. iﬂﬂﬂﬂgﬁﬁﬂﬂIm'm{m}ﬂwﬂﬁﬁqmﬁ:m—aﬂtm-s|m_nﬁuﬁHmw
ﬂlﬁtﬁté@ﬁﬁﬁw?lnﬁﬁmﬁﬂﬁﬁﬂ‘m{Eﬁ}&?\“‘lgliﬂﬂﬁﬁ,ﬂ?lﬁgﬁiﬂﬁﬂﬂ
ﬁ,ﬁﬂuﬂﬁ—mﬁﬁﬁﬁmmi|w&m&mﬁﬁﬁq¢ﬁmmﬁ%?ﬁﬁ
rqmaﬂaiﬁﬁﬂﬁmmiﬁmﬁEMﬂ%mhﬂwﬁmmil
5. MHﬁﬂﬁﬁﬂﬁimﬁﬁmmﬁt—mm#mmﬁ|m-mﬁ&qmﬁ&‘mmt
. ET W e W R
% m&w%ﬁﬁmqﬁamgﬁﬁn%ﬁﬁmqﬁﬁﬂamm-mmﬂﬁmmqsﬂ,maﬁsa’&m
WA= o A e skt w5 e smems A R A
8. ma{ﬁmﬁuﬂﬁfi-aﬁaﬂi--mﬂhﬁtmmwﬁm%wmtmw-mmﬁﬁmﬁq
3 | suE WA W e g W e o st )
9. w5 wm ¥ fom v v e & o A W R
10. maﬁiﬁqm
weafires wyer-st # aeitear g fin o wem Tw 3 T v e W |
(i) weires i % fore = AT g # | ST e wee wed 3 fir R T e e w3 fm
,waqﬁmﬁqmaiﬁ-ﬂw-ﬁgﬁ{wsym#wﬂmﬁnﬁﬂm
(i) f 5 el v & ofte wwc g 8, @ e g A A, Tl fig ot 3 |
o R e 8, P g e & forg wfmg £ w e s @S e s |
{iif) afs et 2 S W B A P o, st SwiieaR g e Ad fem e 8, W
A & forg wrg wvw Al fe SO |

mmmﬁﬁﬁmﬁmmﬁa&ammﬂﬁmwﬁ

Nete : English version of the instructions is printed on the front cover of this Booklet.
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